[02] BFIKHE

X2 Tsil FABBAN)
# s BRA 4,841
ERAIT&E 296
HXZTH 77
AR—TH 380
BEEt=EER 541
7K S HT 817
) 712
= AR Al 1,045
=JIENELn) 838
& AT El 867
RehA 454
=1L 1,607
T & /\FEHET 572
HiE A 246
IR AN B 80
EXRNIETE+FE 113
RYEE/\EHE 100
L/ 185
EEE— DHE] 256
EETE = OHET 728
ELaptuclol:) 867
FE 52 1S M AE HIT 815
AMBIZTH 546
AMETETHE 105
AMRETARTB 442
AR E £ 2,506

201546 A

(%)

100

3R BIRERE

90

80

70 -
60 -
50
40 -
30 -
20
10 -

0

77.4

(A)
18

FMRE#R &

17

1.6
14

1.2

1.0

1.0
0.8
0.6
0.4
0.2

0.0

HiRERAT~ AMBTRET B AMEIAT B~ AfME

FRAEHEIS

15%

85%

HRERAT~ ARETAT B
ABRETAT B ~ AME %R

-1/1-




